
PR
OD

UC
T D

AT
A S

HE
ET

 Use your smart phone to 
scan the above QR code to 

visit our website:
www.bk-resources.com

Phone: 888-310-4393          |          Fax: 888-310-4394         |          Website: www.bk-resources.com          |          Email: sales@bk-resources.com 

Part Number
Handwash

Stations
Faucet / Spout 

Mounting
Overall 

Dimensions
Product Weight 

(lbs)

MSHSA-48W1 2 Single Hole Splash 48” (l) x 197/8” (w) x 181/4”(h) 50.00

MSHSA-48W2 2 2 Hole 8” O.C. Splash 48” (l) x 197/8” (w) x 181/4”(h) 50.00

MSHSA-60W1 2 Single Hole Splash 60” (l) x 197/8” (w) x 181/4”(h) 60.00

MSHSA-60W2 2 2 Hole 8” O.C. Splash 60” (l) x 197/8” (w) x 181/4”(h) 60.00

MSHSA-72W1 3 Single Hole Splash 72” (l) x 197/8” (w) x 181/4”(h) 67.00

MSHSA-72W2 3 2 Hole 8” O.C. Splash 72” (l) x 197/8” (w) x 181/4”(h) 67.00

MSHSA-96W1 4 Single Hole Splash 96” (l) x 197/8” (w) x 181/4”(h) 86.00

MSHSA-96W2 4 2 Hole 8” O.C. Splash 96” (l) x 197/8” (w) x 181/4”(h) 86.00

ADA Multistation Handwash Sinks
Stainless Steel Hand Sinks

Features:

Material:
• 14 Ga. T-304 Stainless Steel Sink

SECTION A-A
SCALE 1:10

DETAIL  B
SCALE 1 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 2 

DWG NO

MSHSXX-ADA
SCALE

AUTHOR:
DATE:

Tyler Arnold 
6/20/2018

REVISIONS
Description: Date:

A

A
 

SIDE VIEW - NO
MOUNTING

 BRACKETS
Scale = 1:10

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This may not be
 replicated or distributed without the written consent of BK Resources.

3.) Material: T-304 14 ga Stainless Steel,
3/16" x 2" T-304 Stainless Steel

4.) Finish: #4 polished finish on all exposed surfaces
5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
MSHSXX-ADA

 
Description:

Multi-Station Handwas Sink - ADA Compliant

As Noted

TOP VIEW
Scale = 1:10

FRONT VIEW - NO MOUNTING BRACKETS
Scale = 1:10

ISO VIEWS
Scale = 1:1219.875

10.875

9.000

DIM 'A'

15.000

DIM 'B' DIM 'B'

16.250

n3.500

1.500 DIM 'C' 1.500

10.000

5.000

1.500 1.500

5.000

5.000

3.500

5.000

3.500

2.000

2.000

12.000

2.000 13.375

7.750

BOTTOM VIEW - NO MOUNTING BRACKETS
Scale = 1:10

MODEL NUMBER SCHEDULE
Model # DIM 'A' DIM 'B' DIM 'C' # of Mounting Brackets # of Mounting Bracket Screws

MSHS48-ADA 48.000 24.000 45.000 2 4
MSHS60-ADA 60.000 30.000 57.000 3 6
MSHS72-ADA 72.000 36.000 69.000 4 8
MSHS96-ADA 96.000 48.000 93.000 5 10

1

PARTS LIST
Item Item # Qty Description

1 MSHSXX-ADA 1 Multi-Station Handwash Sink - ADA Compliant
2 MSHS-ADA-MB 2 Mounting Bracket
3 MSHS-LN 6 1/4-20 Lock Nut
4 BKDR-4-304 1 Included Drain
5 Mounting Bracket See Table Below
6 Mounting Bracket Screw See Table Below

4 5

6

2

3

1.688

5.000

6.375

5.000

6.375

1.500 1.500

1.688

.230

.750

1/4-20 Threaded Stud,
Qty of 6

B

-Revised weld stud
 height to .750

11/13/18

SECTION A-A
SCALE 1:10

DETAIL  B
SCALE 1 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 2 

DWG NO

MSHSXX-ADA
SCALE

AUTHOR:
DATE:

Tyler Arnold 
6/20/2018

REVISIONS
Description: Date:

A

A
 

SIDE VIEW - NO
MOUNTING

 BRACKETS
Scale = 1:10

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This may not be
 replicated or distributed without the written consent of BK Resources.

3.) Material: T-304 14 ga Stainless Steel,
3/16" x 2" T-304 Stainless Steel

4.) Finish: #4 polished finish on all exposed surfaces
5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
MSHSXX-ADA

 
Description:

Multi-Station Handwas Sink - ADA Compliant

As Noted

TOP VIEW
Scale = 1:10

FRONT VIEW - NO MOUNTING BRACKETS
Scale = 1:10

ISO VIEWS
Scale = 1:1219.875

10.875

9.000

DIM 'A'

15.000

DIM 'B' DIM 'B'

16.250

n3.500

1.500 DIM 'C' 1.500

10.000

5.000

1.500 1.500

5.000

5.000

3.500

5.000

3.500

2.000

2.000

12.000

2.000 13.375

7.750

BOTTOM VIEW - NO MOUNTING BRACKETS
Scale = 1:10

MODEL NUMBER SCHEDULE
Model # DIM 'A' DIM 'B' DIM 'C' # of Mounting Brackets # of Mounting Bracket Screws

MSHS48-ADA 48.000 24.000 45.000 2 4
MSHS60-ADA 60.000 30.000 57.000 3 6
MSHS72-ADA 72.000 36.000 69.000 4 8
MSHS96-ADA 96.000 48.000 93.000 5 10

1

PARTS LIST
Item Item # Qty Description

1 MSHSXX-ADA 1 Multi-Station Handwash Sink - ADA Compliant
2 MSHS-ADA-MB 2 Mounting Bracket
3 MSHS-LN 6 1/4-20 Lock Nut
4 BKDR-4-304 1 Included Drain
5 Mounting Bracket See Table Below
6 Mounting Bracket Screw See Table Below

4 5

6

2

3

1.688

5.000

6.375

5.000

6.375

1.500 1.500

1.688

.230

.750

1/4-20 Threaded Stud,
Qty of 6

B

-Revised weld stud
 height to .750

11/13/18

• T-304 Basket Drain Included
• ADA Compliant
• 2, 3, of 4 stations per sink available
• Splash Mounted Single Hole or 8” On Center Faucet 
• 18.25” Overall Height
• Custom faucet hole configurations available
• 3-5 day lead time on all units

Length

Certifications:



PR
OD

UC
T D

AT
A S

HE
ET

 Use your smart phone to 
scan the above QR code to 

visit our website:
www.bk-resources.com

Phone: 888-310-4393          |          Fax: 888-310-4394         |          Website: www.bk-resources.com          |          Email: sales@bk-resources.com 

ADA Multistation Handwash Sinks
Stainless Steel Hand Sinks

SECTION A-A
SCALE 1:10

DETAIL  B
SCALE 1 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 2 

DWG NO

MSHSXX-ADA
SCALE

AUTHOR:
DATE:

Tyler Arnold 
6/20/2018

REVISIONS
Description: Date:

A

A
 

SIDE VIEW - NO
MOUNTING

 BRACKETS
Scale = 1:10

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This may not be
 replicated or distributed without the written consent of BK Resources.

3.) Material: T-304 14 ga Stainless Steel,
3/16" x 2" T-304 Stainless Steel

4.) Finish: #4 polished finish on all exposed surfaces
5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
MSHSXX-ADA

 
Description:

Multi-Station Handwas Sink - ADA Compliant

As Noted

TOP VIEW
Scale = 1:10

FRONT VIEW - NO MOUNTING BRACKETS
Scale = 1:10

ISO VIEWS
Scale = 1:1219.875

10.875

9.000

DIM 'A'

15.000

DIM 'B' DIM 'B'

16.250

n3.500

1.500 DIM 'C' 1.500

10.000

5.000

1.500 1.500

5.000

5.000

3.500

5.000

3.500

2.000

2.000

12.000

2.000 13.375

7.750

BOTTOM VIEW - NO MOUNTING BRACKETS
Scale = 1:10

MODEL NUMBER SCHEDULE
Model # DIM 'A' DIM 'B' DIM 'C' # of Mounting Brackets # of Mounting Bracket Screws

MSHS48-ADA 48.000 24.000 45.000 2 4
MSHS60-ADA 60.000 30.000 57.000 3 6
MSHS72-ADA 72.000 36.000 69.000 4 8
MSHS96-ADA 96.000 48.000 93.000 5 10

1

PARTS LIST
Item Item # Qty Description

1 MSHSXX-ADA 1 Multi-Station Handwash Sink - ADA Compliant
2 MSHS-ADA-MB 2 Mounting Bracket
3 MSHS-LN 6 1/4-20 Lock Nut
4 BKDR-4-304 1 Included Drain
5 Mounting Bracket See Table Below
6 Mounting Bracket Screw See Table Below

4 5

6

2

3

1.688

5.000

6.375

5.000

6.375

1.500 1.500

1.688

.230

.750

1/4-20 Threaded Stud,
Qty of 6

B

-Revised weld stud
 height to .750

11/13/18

SECTION A-A
SCALE 1:10

DETAIL  B
SCALE 1 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 2 

DWG NO

MSHSXX-ADA
SCALE

AUTHOR:
DATE:

Tyler Arnold 
6/20/2018

REVISIONS
Description: Date:

A

A
 

SIDE VIEW - NO
MOUNTING

 BRACKETS
Scale = 1:10

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This may not be
 replicated or distributed without the written consent of BK Resources.

3.) Material: T-304 14 ga Stainless Steel,
3/16" x 2" T-304 Stainless Steel

4.) Finish: #4 polished finish on all exposed surfaces
5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
MSHSXX-ADA

 
Description:

Multi-Station Handwas Sink - ADA Compliant

As Noted

TOP VIEW
Scale = 1:10

FRONT VIEW - NO MOUNTING BRACKETS
Scale = 1:10

ISO VIEWS
Scale = 1:1219.875

10.875

9.000

DIM 'A'

15.000

DIM 'B' DIM 'B'

16.250

n3.500

1.500 DIM 'C' 1.500

10.000

5.000

1.500 1.500

5.000

5.000

3.500

5.000

3.500

2.000

2.000

12.000

2.000 13.375

7.750

BOTTOM VIEW - NO MOUNTING BRACKETS
Scale = 1:10

MODEL NUMBER SCHEDULE
Model # DIM 'A' DIM 'B' DIM 'C' # of Mounting Brackets # of Mounting Bracket Screws

MSHS48-ADA 48.000 24.000 45.000 2 4
MSHS60-ADA 60.000 30.000 57.000 3 6
MSHS72-ADA 72.000 36.000 69.000 4 8
MSHS96-ADA 96.000 48.000 93.000 5 10

1

PARTS LIST
Item Item # Qty Description

1 MSHSXX-ADA 1 Multi-Station Handwash Sink - ADA Compliant
2 MSHS-ADA-MB 2 Mounting Bracket
3 MSHS-LN 6 1/4-20 Lock Nut
4 BKDR-4-304 1 Included Drain
5 Mounting Bracket See Table Below
6 Mounting Bracket Screw See Table Below

4 5

6

2

3

1.688

5.000

6.375

5.000

6.375

1.500 1.500

1.688

.230

.750

1/4-20 Threaded Stud,
Qty of 6

B

-Revised weld stud
 height to .750

11/13/18

SECTION A-A
SCALE 1:10

DETAIL  B
SCALE 1 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 2 

DWG NO

MSHSXX-ADA
SCALE

AUTHOR:
DATE:

Tyler Arnold 
6/20/2018

REVISIONS
Description: Date:

A

A
 

SIDE VIEW - NO
MOUNTING

 BRACKETS
Scale = 1:10

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This may not be
 replicated or distributed without the written consent of BK Resources.

3.) Material: T-304 14 ga Stainless Steel,
3/16" x 2" T-304 Stainless Steel

4.) Finish: #4 polished finish on all exposed surfaces
5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
MSHSXX-ADA

 
Description:

Multi-Station Handwas Sink - ADA Compliant

As Noted

TOP VIEW
Scale = 1:10

FRONT VIEW - NO MOUNTING BRACKETS
Scale = 1:10

ISO VIEWS
Scale = 1:1219.875

10.875

9.000

DIM 'A'

15.000

DIM 'B' DIM 'B'

16.250

n3.500

1.500 DIM 'C' 1.500

10.000

5.000

1.500 1.500

5.000

5.000

3.500

5.000

3.500

2.000

2.000

12.000

2.000 13.375

7.750

BOTTOM VIEW - NO MOUNTING BRACKETS
Scale = 1:10

MODEL NUMBER SCHEDULE
Model # DIM 'A' DIM 'B' DIM 'C' # of Mounting Brackets # of Mounting Bracket Screws

MSHS48-ADA 48.000 24.000 45.000 2 4
MSHS60-ADA 60.000 30.000 57.000 3 6
MSHS72-ADA 72.000 36.000 69.000 4 8
MSHS96-ADA 96.000 48.000 93.000 5 10

1

PARTS LIST
Item Item # Qty Description

1 MSHSXX-ADA 1 Multi-Station Handwash Sink - ADA Compliant
2 MSHS-ADA-MB 2 Mounting Bracket
3 MSHS-LN 6 1/4-20 Lock Nut
4 BKDR-4-304 1 Included Drain
5 Mounting Bracket See Table Below
6 Mounting Bracket Screw See Table Below

4 5

6

2

3

1.688

5.000

6.375

5.000

6.375

1.500 1.500

1.688

.230

.750

1/4-20 Threaded Stud,
Qty of 6

B

-Revised weld stud
 height to .750

11/13/18

SECTION A-A
SCALE 1:10

DETAIL  B
SCALE 1 : 1

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 2 

DWG NO

MSHSXX-ADA
SCALE

AUTHOR:
DATE:

Tyler Arnold 
6/20/2018

REVISIONS
Description: Date:

A

A
 

SIDE VIEW - NO
MOUNTING

 BRACKETS
Scale = 1:10

GENERAL NOTES:  
1.) Units of Measure: Inches

2.) Content is exclusive property of BK Resources. This may not be
 replicated or distributed without the written consent of BK Resources.

3.) Material: T-304 14 ga Stainless Steel,
3/16" x 2" T-304 Stainless Steel

4.) Finish: #4 polished finish on all exposed surfaces
5.) Tolerence: (+/-) 0.125

120 Frontage Rd.
Altamont, IL 62411

Part #:
MSHSXX-ADA

 
Description:

Multi-Station Handwas Sink - ADA Compliant

As Noted

TOP VIEW
Scale = 1:10

FRONT VIEW - NO MOUNTING BRACKETS
Scale = 1:10

ISO VIEWS
Scale = 1:1219.875

10.875

9.000

DIM 'A'

15.000

DIM 'B' DIM 'B'

16.250

n3.500

1.500 DIM 'C' 1.500

10.000

5.000

1.500 1.500

5.000

5.000

3.500

5.000

3.500

2.000

2.000

12.000

2.000 13.375

7.750

BOTTOM VIEW - NO MOUNTING BRACKETS
Scale = 1:10

MODEL NUMBER SCHEDULE
Model # DIM 'A' DIM 'B' DIM 'C' # of Mounting Brackets # of Mounting Bracket Screws

MSHS48-ADA 48.000 24.000 45.000 2 4
MSHS60-ADA 60.000 30.000 57.000 3 6
MSHS72-ADA 72.000 36.000 69.000 4 8
MSHS96-ADA 96.000 48.000 93.000 5 10

1

PARTS LIST
Item Item # Qty Description

1 MSHSXX-ADA 1 Multi-Station Handwash Sink - ADA Compliant
2 MSHS-ADA-MB 2 Mounting Bracket
3 MSHS-LN 6 1/4-20 Lock Nut
4 BKDR-4-304 1 Included Drain
5 Mounting Bracket See Table Below
6 Mounting Bracket Screw See Table Below

4 5

6

2

3

1.688

5.000

6.375

5.000

6.375

1.500 1.500

1.688

.230

.750

1/4-20 Threaded Stud,
Qty of 6

B

-Revised weld stud
 height to .750

11/13/18


